< S
S @)
o 1S}
© J
© .
o QO
S S S o
oo
o o N R
0 )
o L6 V/ L
P )
| |
- - /l‘;_,f‘l" - z
L /ll i
J—
0.3 X 45° o 1 %45°
+0.2
L4 O L210.2 L3
L1
F e 4 = - kK ) JSHR 5 k
=1 FA g e LA FAE TS 1 o 13 1 m REAFE | K7E
1 MR-SX-12122. 2 SO A 12-M8-122.5 122. 5 103 9 10.5 M8 QPQ
2 MR-SX-12137. 2 ST 12-M8-137. 5 137.5 118 9 10. 5 M8 QPQ
3 MR-SX-12140. 2 S 12-M8-140 140 119 9 12 M8 QPQ
4 MR-SX-12149. 2 ST 12-M8-149 149 125 12 12 M8 QPQ
5 MR—-SX-12165. 2 ST 12-M8-165 165 144 9 12 M8 QPQ
6 MR—-SX-12235. 2 ST 12-M8-235 235 213 10 12 M8 QPQ
7 MR-SX-12255. 2 SO AT 12-M10x1-255 255 234 9 12 M10x1 QPQ
8 MR-SX-12263. 2 SZOFF 12-M8-263 263 242 9 12 M8 QPQ
9 MR-SX-12272. 2 SO AT 12-M8-272 272 251 9 12 M8 QPQ
10 | MR-SX-12272.2.1 SO 12-M10x1-272 272 250 10 12 M10x1 QPQ i&*g;‘k
11 MR-SX-12283. 2 ST 12-M8-283 283 262 9 12 M8 QPQ
12 MR-SX-12298. 2 SO 12-M8-298 298 277 9 12 M8 QPQ 1. BAATER, BEDGHELLG, GF— VT pa
Z N 9 9 + §j{7 %I}Eﬁ7 %Lﬁ;
13 MR-SX-12345. 2 %ADH 12-M8-345 345 324 9 12 M8 QPQ 2. PAbFE. T235: 8
14 MR=SX~12657. 2 %'E“ﬁ 12-M8-657 657 636 9 12 M8 QPQ 3. FQPQAbFH, THFEEHV, 500LL |, QPQAESE 2 B EAEKT0. 03mm;
15 MR-SX-12151. 2 %{:AL»H: 12-M8-151 151 130 9 12 M8 QPQ 4. RVEAZESZ. GB/T1084-m
16 MR-SX-12110. 2 %T:/D"JE 12-M8-110 110 89 9 12 M8 QPQ N o : °
17 MR-SX-12306. 2 S 12-M8-306 306 285 9 12 M8 QPQ
18 MR-SX-12465. 2 ‘?E'D"? 12-M8-465 465 444 9 12 M8 QPQ
19 MR-SX-12401. 2 S 12-M8—401 401 380 9 12 M8 QPQ N X
20 MR-SX-12451. 2 SO 12-M8-451 451 430 9 12 M8 QPQ 45 VL3 B B S P R B A TR A A
RiE A% BRxHE X F BN AT
s . S/
L PR BRAHRIE | EE | LA
Rliie MR-SX-12XXX.2
T % B H 20231002 H 1T 1]



	图纸1
	工程图视图3


